
 

(DBC 36) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of Final Year) 

Part – II : COMMERCE 

Paper – III : Corporate Accounting 

Time : 03 Hours                                Maximum Marks : 80 

                    Section - A (4 × 4 = 16)       Section - A (3 × 5 = 15) 

Answer any Four of the following 

1) Internal reconstruction. 

 A…™èþ-ÆæÿY™èþ ç³#¯èþÆŠÿ °Æ>Ã-×ý-Ðèþ$$. 

2) Revenue Account 

 Æ>ºyìþ Rê™é. 

3) Minority interest. 

 AËµ çÜ…RêÅMæü$Ë BçÜ-Mìü¢. 

4) Liquidation expenses. 

 ç³-Ç-çÜ-Ðèþ*í³¢ QÆæÿ$a-Ë$ 

5) Valuation of shares. 

 -Ðé-sêË Ðèþ$*ÌêÅ…Mæü-̄ èþ-Ðèþ$$. 

6) Purchase consideration. 

 Mö¯èþ$-VøË$ {ç³†-çœ-Ë-Ðèþ$$. 

7) Net Assets Method. 

 °-MæüÆæÿ BçÜ$¢Ë ÑË$Ðèþ ç³§æþ®-†. 

8) Rules and regulations for issuing bonus shares. 

 »Z è̄þ‹Ü õÙÆæÿ$Ï gêÈ- °Äæý$Ðèþ*Ë$ Ðèþ$Ç-Äæý$$ °º…«§æþ-̄ èþ-Ë$. 

                    Section – B (2 × 8 = 16)  

Answer any Two of the following 

 

9) Explain the need for accounting standards. 

 AMú…sìý…VŠü {ç³Ðèþ*-×êË BÐèþ-ÔèýÅ-Mæü-™èþ¯èþ$ ÑÐèþ-Ç…ç³#-Ðèþ$$. 



 

10)  The following particulars are available in respect of the business by Ramana.  

a) Capital Employed – Rs. 50,000. 

b) Trading results  

 1989 profit Rs. 12,200 1990 profit Rs. 15,000 

 1991 loss  Rs.   2,000 1992 profit Rs. 21,000 

c) Market rate of interest on investments – 8%. 

d) Rate of risk return on capital invested in business – 2%  

e) Remuneration from alternative Employment of the proprietor (if not engaged in business) – 

Rs. 3,600 P.A.    

You are required to compute the value of goodwill in the basis of 3 years purchase of super 

profits of the business. Calculate on the average profits of the last four years. 

D {Mìü…¨ CÐèþÓ-º-yìþ¯èþ ÆæÿÐèþ$×ý ÐéÅ´ë-Ææÿ…ÌZ Ë¿æýÅ-Ðèþ$Äôý$Å B«§éÆæÿ ÑÐèþ-Æ>-Ë$. 

a) -Ðèþ$*-Ë-«§æþ¯èþ… & Ææÿ*. 50,000. 

b) ÐèþÆæÿ¢Mæü ÑÐèþ-Æ>Ë$ 

 1989  Ìê¿æý…   Ææÿ*. 12,200,  1990 Ìê-¿æý…  Ææÿ*.15,000 

 1991  ̄ èþçÙt…   Ææÿ*. 2,000,  1992 Ìê-¿æý…  Ææÿ*.21,000    

c) ò³r$t-º-yæþ$-Ëò³O Ðèþyîþz Ðèþ*ÆðÿPsŒý Æóÿr$ & 8% 

d) ÐéÅ´ë-Ææÿ…ÌZ Ðèþ$*Ë-«§æþ¯èþ ò³r$t-º-yìþò³O ÇçÜP-Æóÿr$ & 2%     

e) Äæý$f-Ðèþ*° ç³° °ÆæÿÓ-çßý×ý C_a¯èþ Ððþ$$™èþ¢… Ææÿ*. 3,600 P.A.  

 (ÐéÅ-́ ëÆæÿ °ÆæÿÓ-çßý×ý M>Mæü$…yé-). 

ò³O ÑÐèþ-Æ>Ë è̄þ$…yìþ 4 çÜ…||Æ>Ë (ÐéÅ-́ ë-Ææÿ…ÌZ çÜ*ç³ÆŠÿ Ìê¿êË$ ÌñýMìüP…ç³#-)-çÜ-Æ>-çÜÇ° Ìê¿êË$ 3 çÜ…Ðèþ-™èþÞ-Æ>Ë Mö¯èþ$-
Vøâæý$å {ç³†çœË… §éÓÆ> Væü$yŠþ-Ñ-ÌŒý¯èþ$ Mæü¯èþ$Vö° ÑË$-Ðèþ¯èþ$ °Ææÿ~-Æÿ$$…^èþ…yìþ. 

11)     A life Insurance Company gets its valuation for two years. The Life Insurance Fund balance as on 

31.3.2010 was Rs. 41,40,000. Before providing Rs. 30,000 for shareholders dividend for the year 

2009-10. The Net Liability as on 31.3.2010 was  Rs. 40,40,000. During the last two years interim 

dividend of Rs. 60,000 was paid. Prepare a statement showing the amount now available as bonus 

to shareholders.  

 JMæü iÑ™èþ ÁÐèþ* çÜ…çÜ¦ {ç³† Æðÿ…yæþ$ çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$-ËMæü$ Ðèþ$*ÌêÅ…Mæü¯èþ ^óþÄæý$$-̂ èþ$-̄ èþ²¨. 31.3.2010 ¯ésìýMìü iÑ™èþ ÁÐèþ*   °«̈  

Ææÿ*. 41,40,000 Ðèþ#¯èþ²¨. C…§æþ$ÌZ Ææÿ*. 30,000 Ðésê-§é-Ææÿ$Ë yìþÑ-yðþ…yæþ$ 2009&10 çÜ…Ðèþ-™èþÞ-Æ>-°MìüV>¯èþ$ ^ðþÍÏ…^èþ-º-yìþ-

¯èþ¨. çÜÆæÿ$ª-»ê-r$Mæü$ ç³NÆæÿÓ-Ðèþ$$V> Væü$Ç¢…^èþ-º-yìþ-̄ èþ¨. 31 Ðèþ*Ça 2010 ¯ésìý °MæüÆæÿ º$$×ý »ê«§æþÅ™èþ Ææÿ*. 40,40,000. Væü™èþ 

Æðÿ…yæþ$ çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$-Ë-Mæü$-V>¯èþ$ Ðèþ$«§æþÅ M>ÍMæü yìþÑ-yðþ…yæþ$ Ææÿ*. 60,000 ^ðþÍÏ…_-̄ é-Ææÿ$. ò³O ÑÐèþ-Ææÿ-Ðèþ$$-Ë¯èþ$ B«§é-Ææÿ-Ðèþ$$V> ó̂þçÜ$-

Mö°, Ðésê-§é-Ææÿ$Ë »Z è̄þ-çÜ$Mæü$ Ë¿æýÅ-Ðèþ$Væü$ °ËÓ¯èþ$ ÌñýMìüP…^èþ…yìþ  



 

12) From the following data : Compute the “Net assets” value of each category of Equity shares of „Z‟ 

Ltd.   

 Share holders fund : 

 1000 „A‟ Equity shares of Rs. 100 each fully paid up 

 1000 „B‟ Equity shares of Rs. 100 each, Rs. 80 paid up 

 1000 „C‟ Equity shares of Rs. 100 each, Rs. 50 paid up 

 Retained Earnings Rs. 90,000 

 ¨Væü$Ðèþ çÜÐèþ*-̂ é-Ææÿ… çÜà-Äæý$…™ø 2 ÍÑ$-sñýyŠþ ÐéÇ {ç³† DMìüÓsîý Ðésê ÆæÿM>-°Mìü °MæüÆæÿ BçÜ$¢Ë ÑË$Ðèþ Mæü¯èþ$-Vö-̄ èþ…yìþ. 

 -Ðé-sê-§é-Ææÿ$ËMæü$ °«̈  :  

 1000 DMìüÓsîý ÐésêË$, JMöP-MæüPsìý ç³NÇ¢V> Ææÿ*. 100 

 1000 DMìüÓsîý ÐésêË$, JMöP-MæüPsìý Ææÿ*. 100, Ææÿ*. 80 ^ðþÍÏ…^èþ-º-yìþ-̄ èþ-Ñ.  

 ” 2 Vø{§óþgŒý & Co. ¯èþ$…yìþ çœÇ² è̂þÆŠÿ Mö¯èþ$VøË$ Ææÿ*. 20,000. 

  1000 DMìüÓsîý ÐésêË$, JMöP-MæüPsìý Ææÿ*. 100, Ææÿ*. 50 ^ðþÍÏ…^èþ-º-yìþ-̄ èþ-Ñ. 

  °Íí³ E…_¯èþ B§éË$ Ææÿ*. 90,000.  

                   Section - C (3 × 16 = 48)  

Answer any Three of the following 

13) Not So Well Ltd. went into voluntary liquidation. The liquidator is entitled to as commission of 

2% on the amount realized on assets and 2% on the amount realized distributed to unsecured 

Creditors other than Preferential Creditors. 

    Rs. 

 Unsecured Creditors 2,24,000 

 Preferential Creditors 70,000 

 Debentures 75,000 

 The assets realized as follows : 

 Cash in hand 20,000 

 Land and Buildings 1,30,000 

 Plant and Machinery 1,10,500 

 Fixtures 7,500 

 The liquidation expenses amount to Rs. 2,000. A call of Rs. 2 per share on the partly paid 10,000 

Equity shares was made and duly paid concept in case of one share holder owing 500 shares.  

 Prepare Liquidation final statement. 

 Not So Well Limited C^ée-ç³N-ÆæÿÓMæü ç³Ç-çÜ-Ðèþ*-í³¢ÌZ E…¨. ÍMìüÓ-yóþ-rÆæÿ$ BçÜ$¢Ë ÐèþçÜ*-âæýåò³O 2% Ðèþ$ÇÄæý$$ àÑ$-Ìôý° º$$×ý-

§é-™èþ-ËMæü$ ^ðþÍÏ…_¯èþ (B-«̈ -MæüÅç³# º$$×ý-§é-™èþË Ñ$ è̄þ-çßý) §é°ò³O 2% MæüÒ$-çÙ-̄ ŒþMæü$ AÆæÿ$á-yæþ$.  



 

    Ææÿ*.  

 àÒ$-Ìôý° º$$×ý-§é-™èþ-Ë$ 2,24,000 

 B« -̈MæüÅç³# º$$×ý-§é-™èþ-Ë$ 70,000 

 yìþ»ñý…^èþ-Ææÿ$Ï 75,000 

 BçÜ$¢Ë ÐèþçÜ*Ë$ {Mìü…¨ Ñ«§æþ-Ðèþ$$V> E¯èþ²¨ :  

 ^óþ†ÌZ ¯èþVæü-§æþ$ 20,000 

 ¿æý*Ñ$ ¿æýÐèþ-̄ é-Ë$ 1,30,000 

 ´ëÏ…r$, Äæý$…{™èþ… 1,10,500 

 Eç³-Mæü-Ææÿ-×ê-Ë$ 7,500  

 ç³ÇçÜÐèþ*í³¢ QÆæÿ$aË$ Ææÿ*. 2,000 ´ë„ìü-Mæü…V> ^ðþÍÏ…_¯èþ 10,000 DMìüÓsîý Ðésê-Ëò³O ÐésêMæü$ Ææÿ*. 2Ë$ ð̂þÍÏ…^èþ-Ðèþ$° MøÆæÿV> 

500 ÐésêË$ MæüË Ðésê-§é-Ææÿ$yìþ Ñ$¯èþçßý Ñ$W-Í¯èþ ÐéÇMìü Ý÷Ðèþ$$Ã ^ðþÍÏ…_-̄ èþ-ÐéÆæÿ$. ÍMìüÓ-yóþ-r-Ææÿ$Mæü$ BQÇ °Ðóþ-̈ Mæü ™èþÄæý*Ææÿ$ 

^óþÄæý$…yìþ.  

 

14) The following is the balance sheet of X Company Ltd. as on 31.3.2003. 

   Liabilities Rs.   Assets Rs. 

  Share capital issued and paid up:  Goodwill 20,000 

 25,000 preference share of  

 Rs. 10 each. 2,50,000 Leasehold premises 1,07,000 

 25,000 equity shares of Rs.10 2,50,000 Plant and Machinery 60,000 

 Sundry Creditors 40,000 Patents  1,73,900 

 Bank overdraft 36,000 Stocks  34,000 

     Debtors 56,000 

     Cash  100 

     Preliminary expenses 2,000 

     Profit and Loss a/c 1,23,000 
  

    5,76,000   5,76,000 

 

 The company proved unsuccessful and resolution were passed to carry out the following scheme 

of reconstruction of reduction of capital. 

 a) That the preference shares be reduced to an equal number of fully paid should of Rs. 5 each. 

 b) That the equity shares be reduced to an equal number of fully paid shares of   Rs. 2.50 each. 

 c) That the amount available to be utilized towards wiping out losses and reduction of assets as 

follows :  



 

  Preliminary expenses, goodwill and profit and loss account to be written off entirely, Rs. 

27,000 to be written off on leasehold premises, Rs. 14,000 to be written off on stock and Rs. 

6,000 to be provided for doubtful debts, and the balance be written off on patents make 

journal entries in the books of the company on prepare the balance sheet after 

reconstruction.  

 31.3.2003¯èþ X Mæü…ò³± ÍÑ$-sñýyŠþ ÐéÇ BíÜ¢ Aç³šË ç³sìýa ¨Væü$Ðèþ ±Äæý$-º-yìþ-̄ èþ-¨. 

   Aç³š-Ë$  -Ææÿ*.   -B-çÜ$¢-Ë$  Ææÿ*. 

 gêÈ-̂ óþ-íÜ¯èþ ^ðþÍÏ…_¯èþ Ðèþ$*Ë-«§æþ-̄ èþ… :  Væü$yŠþ-Ñ-ÌŒý  20,000  

 25,000 DMìüÓsîý ÐésêË$ Ææÿ*. 10 ^öç³š¯èþ 2,50,000 MúË$-§éÇ BÐèþ-Ææÿ-×ý-Ðèþ$$-Ë$ 1,07,000 

 25,000 B« -̈MæüÅç³# ÐésêË$ Ææÿ* 10 ^öç³š-̄ èþ2,50,000 ´ëÏ…r$, Äæý$…{™é-Ë$ 60,000 

 º$$×ý§é™èþ-Ë$ 40,000 õ³sñý…r$Ï  1,73,000 

 »ê…Mæü$ KÐèþÆŠÿ {yéç³#t 36,000 çÜÆæÿ$-Mæü$  34,000 

     º$$×ý-{Væü-çÜ$¢-Ë$ 56,000 

     ¯èþVæü-§æþ$  100 

     {´ë«§æþ-Ñ$Mæü QÆæÿ$a-Ë$ 2,000 

     Ìê¿æý-̄ èþ-ÚëtË Rê™é 1,23,000  

    5,76,000   5,76,000 

 Mæü…ò³± ÐéÅ´ë-Ææÿ…ÌZ Ñf-Äæý$-Ðèþ…™èþ… M>ÌôýMæü, Ðèþ$*Ë-«§æþ¯èþ ™èþWY…ç³# §éÓÆ> ¨Væü$Ðèþ ç³#¯èþ-Ç²-Æ>Ã×ý ç³«§æþ-M>°² AÐèþ$Ë$ ç³Ææÿ$-̂ èþ$-rMæü$  

 ¡-Æ>Ã-°…_…¨. 

 a) B« -̈MæüÅç³# Ðésê-Ë¯èþ$ A§óþ çÜ…QÅ-VæüË ç³NÇ¢V> ^ðþÍÏ…_¯èþ Ææÿ*. 5 ÑË$Ðèþ VæüË ÐésìýV> ™èþWY…^èþ-yæþ-Ðèþ$$.  

 b) D-MìüÓsîý Ðésê-Ë¯èþ$ A§óþ çÜ…QÅ-VæüË ç³NÇ¢V> ^ðþÍÏ…_¯èþ Ææÿ*. 2.50 ÑË$Ðèþ VæüË ÐésêV> ™èþWY…^èþ-yæþ-Ðèþ$$.  

c) ò³O Ñ«§æþ…V> Ðésê-Ë-̄ èþ$…yìþ Ë¿æýÅ-Ððþ$Ō èþ Ððþ$$™é¢°² ¯èþÚët-Ë¯èþ$ Ææÿ§æþ$ª ^óþÄæý$-yé-°Mìü ¨Væü$Ðèþ õ³ÆöP¯èþ² Ñ«§æþ…V> BçÜ$¢-Ë¯èþ$ Ææÿ§æþ$ª 

^óþÄæý$-yé-°Mìü Eç³-Äñý*-W…^èþ-Ðèþ-ËíÜ Äæý$$¯èþ²-̈ . 

 {´ë£æþ-Ñ$Mæü QÆæÿ$eË$, Væü$yŠþ-ÑÌŒý, Ìê¿æý-̄ èþ-ÚëtË Rê™é °ËÓ-Ë¯èþ$ ç³NÇ¢V> Ææÿ§æþ$ª-̂ óþçÜ*¢, MúË$-§éÇ BÐèþ-Ææÿ-×ê-Ë-̄ èþ$…yìþ     Ææÿ*. 

27,000, çÜÆæÿ$-Mæü$-̄ èþ$…yìþ Ææÿ*. 14,000 ™èþWY…^èþ-yé-°Mìü §é° »êMîü-ËMæü$ Ææÿ*. 6,000 HÆ>µr$ ^óþÄæý$-yé-°Mìü  Ñ$W-Í¯èþ 

§é°° õ³sñý…r$Ï ™èþWY…^èþ-yé-°Mìü Ñ°-Äñý*-W…^èþ-Ðèþ-Ìñý¯èþ$. 

 Mæü…ò³± ç³#çÜ¢-M>-ËÌZ _sêt-ç³-§æþ$ªË$ {ÐéíÜ, ç³#¯èþ-Ç²-Æ>Ã-×ê-̄ èþ…™èþÆæÿ… E…yóþ BíÜ¢ Aç³šË ç³sîýt° ^èþ*ç³…yìþ.  



 

15)  From the following information, prepare Profit and Loss account of Suresh Bank Limited for the 

year ended 31
st
 March 2006. 

    Rs. 

 Interest on loan 6,00,000 

 Interest on fixed deposits 5,50,000 

 Commission 20,000 

 Salaries and allowance  3,00,000 

 Exchange and brokerage 40,000 

 Taxes and Insurance 20,000 

 Interest on overdrafts 60,000 

 Rent  30,000 

 Directors fee 60,000 

 Interest on cash creditors 4,80,000 

 Interest on SB deposits 1,74,000 

 Postage and telegrams 20,000 

 Sundry Expenses 20,000 

 Discount on bills 3,04,000 

 Stationery and printing 40,000 

 Audit fee 20,000 

 Additional Information :  

 a) Rebate on bill discounted Rs. 15,000. 

b) Bad debts Rs. 20,000. 

c) Income tax provision 55%. 

d) 10% dividend (on capital Rs. 10,00,000)  

 D {Mìü…¨ C_a¯èþ çÜ$Æóÿ‹Ù »ê…Mæü$ ÐéÇ çÜÐèþ*-̂ é-ÆæÿÐèþ$$ ¯èþ$…yìþ 31.03.06 ™ø A…™èþ-Ðèþ$Äôý$Å çÜ…Ðèþ-™èþÞ-Æ>-°Mìü Ìê¿æý-̄ èþ-ÚëtË Rê™é 

°Ðóþ-̈ -Mæü¯èþ$ ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 

    Ææÿ*.  
 A-ç³šò³O üÐèþ-yîþz 6,00,000 

 íœMðüÞyŠþ yìþ´ë-h-rÏò³O Ðèþyîþz 5,50,000 

 MæüÒ$-çÙ-̄ Œþ 20,000 

 i™éË$, AË-Ððþ-̄ èþ$Þ-Ë$ 3,00,000 

 GMðüÞ…h, {»ZMæü-Æóÿ-h 40,000 

 ç³¯èþ$²Ë$, ÁÐèþ* 20,000 

 KÐèþÆŠÿ {yéç³#tò³O Ðèþyîþz 60,000 

 A§ðþª  30,000 

 yðþOÆðÿO-MæütÆæÿÏ ïœk 60,000 



 

 M>Å‹Ù {Mðüyìþ-sŒýò³O Ðèþyîþz 4,80,000 

 SB yìþ´ë-h-rÏò³O Ðèþyîþz  1,74,000 

 ´ùõÜti, sñýÍ-{V>-Ðèþ$$-Ë$ 20,000 

 ÑÑ«§æþ QÆæÿ$a-Ë$ 20,000 

 ¼Ë$Ï-Ëò³O yìþÝûP…sŒý 3,04,000 

 Ðèþ$${§æþ×ý, õÜtçÙ-̄ èþ-È 40,000 

 ByìþsŒý ïœk 20,000 

 A§æþ-̄ èþç³# çÜÐèþ*-̂ é-Ææÿ-Ðèþ$$.  

 a) yìþÝûP…sŒý ^óþíÜ¯èþ ¼Ë$Ï-Ëò³O ™èþWY…ç³# Ææÿ*. 15,000 

b) Æ>°-»ê-MîüË$ Ææÿ*. 20,000. 

c) B§é-Äæý$ç³# ç³¯èþ$² HÆ>µr$ 55% 

d) yìþÑ-yðþ…yæþ$Ï 10% (Ðèþ$*-Ë-«§æþ-̄ èþÐèþ$$ Ææÿ*. 10,00,000)   

 

16)    Rahiman Co. Ltd. was incorporated on 1
st
 May 2010 to take over the business of a going concern 

from 1
st
 January of the same year. The total turnover for the year ending 31

st
 December was Rs. 

4,00,000 namely Rs. 1,20,000 upto May 1
st
 and  Rs. 2,80,000 for the following period. The profit 

and loss account details are given below. Ascertain the profit prior to incorporation and also 

divisible profits. Gross profit Rs. 1,40,000 

      Rs. 

 Rent, Rates   6,480 

 Lighting   4,080 

 Director fee  4,000 

 Office expenses  4,800 

 Carriage outward  6,000 

 Repairs   2,760 

 Interest on loan  2,400 

 Insurance    1,440 

 Salaries   15,600 

 Sales commission 20,000 

 Sales discount  10,000 

 Bank charges  840 

 Bad debts   1,200 

 Net profit   60,400 



 

 Ææÿíßý-Ðèþ*¯Œþ & Mæü…ò³± Ðóþ$ 1, 2010 ¯éyæþ$ è̄þÐðþ*§ðþO A§óþ çÜ…Ðèþ-™èþÞ-Ææÿ¯èþ$ f¯èþ-ÐèþÇ 1¯èþ JMæü ÐéÅ´ë-Æ>°² Mö¯èþ$-VøË$ ^óþíÜ…¨. 

yìþòÜ…ºÆæÿ$ 31 ¯ésìýMìü Ððþ$$™èþ¢Ðèþ$$ AÐèþ$Ã-M>-Ë$ Ææÿ*. 4,00,000. C…§æþ$ÌZ Ðóþ$ 1 ÐèþÆæÿMæü$ Ææÿ*. 1,20,000 V>¯èþ$, ™èþÆæÿ$ -Ðé™èþ 

M>Ìê-°Mìü Ææÿ*. 2,80,000V>¯èþ$ E¯èþ²¨. Ìê¿æý-̄ èþ-ÚëtË Rê™éMæü$ çÜ…º…«̈ …_¯èþ ÑÐèþ-Ææÿ-Ðèþ$$Ë$ {Mìü…¨ Ñ«§æþ-Ðèþ$$V> Ðèþ#¯èþ²¨. ò³O A…Ôèý -

Ðèþ$$-Ë¯èþ$ B«§é-Ææÿ-Ðèþ$$V> ^óþçÜ$-Mö° ¯èþÐðþ*-§æþ$Mæü$ ç³NÆæÿÓÐèþ$$ Ìê¿ê°² Ðèþ$ÇÄæý$$ Ñ¿ê-f-±Äæý$ Ìê¿ê-Ë¯èþ$ ÌñýMìüP…^èþ…yìþ. çÜ*¦Ë 

Ìê¿æýÐèþ$$ Ææÿ*. 1,40,000. 

      Ææÿ*. 

 A§ðþª, Æóÿr$Ï   6,480 

 ÐðþË$-™èþ$-Ææÿ$   4,080 

 yðþOÆðÿ-MæütÆæÿ$ ïœk   4,000 

 BïœçÜ$ QÆæÿ$e-Ë$  4,800 

 AÐèþ$Ã-Mæüç³# ÆæÿÐé-×ê  6,000 

 Ðèþ$Ææÿ-Ðèþ$Ã-™èþ$¢-Ë$   2,760 

 Aç³šò³O Ðèþyîþz   2,400 

 ÁÐèþ*    1,440 

 i™é-Ë$   15,600 

 AÐèþ$Ã-Mæüç³# MæüÒ$-çÙ-̄ Œþ  20,000 

 AÐèþ$Ã-Mæüç³# yìþÝûP…sŒý  10,000 

 »ê…Mæü$ QÆæÿ$a-Ë$  840 

 Æ>° »êMîü-Ë$   1,200 

 °MæüÆæÿ Ìê¿æý-Ðèþ$$   60,400  

 

17)    On 1
st
 April 2000 a company issued debentures for Rs. 1,00,000 redeemable at par at the end of 5 

years and it was resolved that a sinking fund should be formed and invested in tax free securities, 

assuming that the interest received on the investments was at the rate of 5 percent  on cost, that the 

interest was received yearly and immediately invested and that the investments were realized at a 

loss of Rs. 300 at the end of five years. 

 Reference to the sinking fund table shows that Rs. 0.180975 invested at the end of year, at 5% 

compound interest will produce Rs. 1 at the end of 5 years. 

 Prepare sinking fund account and sinking fund investment account.  



 

 1 H{í³ÌŒý 2000 ¯èþ JMæü Mæü…ò³± 5Ðèþ çÜ…Ðèþ-™èþÞÆæÿ… BQ-Ææÿ$¯èþ çÜÐèþ$Ðèþ$*ÌêÅ-°Mìü ÑÐðþ*-̂ èþ¯èþ… ^óþõÜ °Ñ$™èþ¢… Ææÿ*. 1,00,000  

yìþ»ñý…^èþ-ÆæÿÏ̄ èþ$ gêÈ ó̂þòÜ¯èþ$ Ðèþ$ÇÄæý$$ §é° MöÆæÿMæü$ °„óüç³°«̈ ° HÆ>µr$ ó̂þÄæý$-Ðèþ-Ìñý-̄ èþ° °Ææÿ~-Æÿ$$…^ðþ¯èþ$ Ðèþ$ÇÄæý$$ ç³¯èþ$²-Ìôý° òÜMæü*Å-Ç-

sîý-ËÌZ ò³r$t-ºyìþ ò³sñýt̄ èþ$. ò³r$t-º-yæþ$-Ëò³O 5% Ðèþyîþz ÐèþÅÄæý$… ÐèþçÜ$¢…§æþ° Fíßý…_ {ç³† çÜ…Ðèþ-™èþÞÆæÿ… Ðèþyîþz° Ððþ…r¯óþ   ò³r$t-ºyìþ 

ò³sñýt̄ èþ$. I§æþÐèþ çÜ…Ðèþ-™èþÞÆæÿ… BQ-Ææÿ$¯èþ ò³r$t-º-yæþ$Ë$ Ææÿ*. 300 ¯èþçÙt…¯èþMæü$ ÐèþçÜ*-Ë-Æÿ$$-̄ éÆÿ$$. 

 °„óü-ç³-°-«̈  ç³sìýtMæü {ç³M>Ææÿ… I§æþ$ çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$Ë BQ-Ææÿ$¯èþ 5% ^èþ{Mæü-Ðèþ-yîþz™ø JMæü Ææÿ*´ëÆÿ$$ Æ>Ðèþ-yé-°Mìü {ç³† çÜ…Ðèþ-™èþÞÆæÿ…    BQ-

Ææÿ$¯èþ 0.180975 ò³r$t-ºyìþ ò³sñýt-Ðèþ-Ìñý-̄ èþ° ™ðþÍ-Äæý$-̂ óþ-Äæý$$-̂ èþ$-̄ èþ²-̈ . 

18)    The following March 31, 2004 balance sheet of „A‟ Ltd. And „B‟ Ltd. are given. 

  Liabilities   A Ltd. B Ltd. Assets A Ltd. B Ltd. 

      Rs. Rs.  Rs. Rs. 

 Share Capital :    Goodwill 28,000 15,000 

 Share of Rs. 10 each 1,00,000 60,000 Assets 1,40,000 44,000 

 Profit and Loss a/c 30,000 - Investments :  

        1,000 shares in „B‟ Ltd 12,000 - 

 Creditors   50,000 20,000 1,500 shares in „A‟ Ltd - 16,500 

        Profit and Loss - 4,500 

      1,80,000 80,000  1,80,000 80,000 

 B Ltd. is absorbed by A Ltd. consideration being four shares of A Ltd. For every five shares held 

to „B‟ Ltd. Show Ledger accounts to close the Books of „B‟ Ltd. 

 D {Mìü…¨ CÐèþÓ-º-yìþ¯èþ BíÜ¢&Aç³šË ç³sìýt Ðèþ*Ça 31, 2004 ¯ésìý B ÍÑ$-sñýyŠþ Ðèþ$ÇÄæý$$ A ÍÑ$-sñýyŠþ ÐéÇ-̈ .   

 Aç³š-Ë$    A Ltd. B Ltd. -B-çÜ$¢-Ë$  A Ltd. B Ltd. 

      Ææÿ*. Ææÿ*.  -Ææÿ*. -Ææÿ*. 
 Ðésê Ðèþ$*Ë-«§æþ-̄ èþ…:     Væü$yŠþ-Ñ-ÌŒý  28,000 15,000 

 Ðésê JMæüP…sìýMìü Ææÿ*.10 ^öç³š-̄ èþ1,00,00060,000 BçÜ$¢-Ë$ 1,40,000 44,000 

 Ìê¿æý-̄ èþÚëtË Rê™é  30,000 & ò³r$t ºyæþ$Ë$ : 

 º$$×ý §é™èþ-Ë$   50,000 20,000 1,000 ÐésêË$ B Í.Ñ 12,000 & 

        1,500 ÐésêË$ A Í.Ñ  & 16,500 

        Ìê¿æý ¯èþÚët-Ë$ & 4,500 

      1,80,000 80,000  1,80,000 80,000 

 B ÍÑ$-sñýyŠþ, A ÍÑ$-sñý-yŠþ^óþ çÜ…Î¯èþ… M>º-yìþ…¨. {ç³†-çœ-Ë…V> „B‟ ÍÑ$-sñýyŠþ {ç³† 5 Ðésê-ËMæü$ A ÍÑ$-sñý-yŠþÌZ 4 ÐésêË$ 
CÐèþÓ-º-yæþ-™éÆÿ$$. B ÍÑ$-sñýyŠþ ç³#çÜ¢-M>-Ë¯èþ$ Ðèþ$$W… è̂þ-yé-°Mìü AÐèþ-çÜ-Ææÿ-Ðèþ$-Æÿ$$¯èþ BÐèþÆ>j Rê™é-Ë è̄þ$ ^èþ*ç³…yìþ     

 


